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S % 2a3b - 6a2b? + 2b° O A 2+ o] ZEQI ¢

@ 2ab @ 2a%b @Qb @ 2a

2a3b — 6a’b? + 2b3 = 2b(a® - 3a®b + b*) °| B2
2b °|tt.




o2 5 A FA SR Q4R 4 gle AL2?

O x*-16x+64 @ 4x%2 —4x+1
1

® x2 + 8xy + 16y @x2+§x+l

® 2x% — 4xy + 2y?

~&B

@ x* - 16x+ 64 = (x - 8)?
@ 4x? —4x+1=(2x-1)?
® x2 + 8xy + 16y? = (x + 4y)?
® 2x2 - 4xy + 2y% = 2(x — y)?




4. @ —ap? & ASESoHA?

@ (a-2b)* @(a+2b) (a —2b)
® (a+b)(a-4b) @ (a+2)(h-2)
® (a+2b)?

a? - 4b® = a? - (2b)?
= (a+ 2b) (a - 2b)
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5. xX+T7x+102F Aol o=

¥+ 7x+10= (x +5)(x+2)
xR+ (x+2)=2x+7




6x2+x—12 5 F A2 02 Q4Eofotal-& m,

ot L
rlo oSt
>

DY5x -1 @ 5x+1 ® Tx+1

@ 7x-1 ® Tx+7

6x2 +x—12= (3x—4) (2x + 3)
LBx—4)+(2x+3)=5x-1




7.  8x%—10xy—12y? S A EFS off, J5<l AL 12 H?

D x-vy @ x+2y ® 2x+ 4y

@ 4x -3y @4x+3y

8x% — 10xy — 12y% =2 (4)52 — Hxy — 6y2)
=2 (x—2y) (4x + 3y)




8.

2ax — 4ay 5 Q1-E5|SHH?

® 2(ax - ay)

@ 4(x - 2ay)

@ 2a(x - 2ay)

® 4da(x-2y)

@Qa(x —2y)
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X

a*x+ad’y = d*(x+y) o|B=2




10. o3 3 UH A Yt 22 3591 A5 2k2] o= A2
D 3x2+7x+2 @ x24+3x+2 ® 2x2+7x+6

@x2—5x+6 ® 2x24+3x-2

B

D@32 +7x+2=Bx+1)(x+2)
@x2+3x+2=(x+1)(x+2)
® 2x% +7x+6 = (2x+ 3)(x + 2)
@ x%-5x+6=(x—2)(x-3)
®2x2+3x-2=(x+2)(2x-1)




D x*-6x+9 @ 4x® +16x+ 16
1 1
@x2+—x+— @ x? +2xy+y?
© 7
2, = )
@x+3xy—|—36y

~&B

D x*-6x+9=(x-3)?
@ 4x* +16x+ 16 = (2x + 4)?
@ x% 4 2xy + 1y% = (x + y)?

® 2+ 2 +i2—(x+1>2
AT 6




12.

x=3+2V2, y=3-2v2 4 o, x2 % o] g& 52

O 24 @ -24 ®0
@ —24+2 024«/'

B
x2—y2
= (x+y)(x-v)
=(3+2V2+3-2V2)(3+2V2-3+2V2)
=6x4V2 =242




13. o] 81 + 2 & Q155 otH?

@ (x-9)? @ (x+9)?
@) (x-9)(x+9) @ —(x+9)(x-9)

‘ Bl +x2=x2-81=x2-92=(x+9)(x-9)




14. o2 2 a® - 645 ASE3loHH?

@@ +8)a-8) @ (a+32)(a-2)
® (a+32)(a-32) @ (a+8)(a+8)
® (a+16)(a-4)

‘ a’-64=a>-8%=(a+8)(a-8)




15.

X =546 2 AEH A2

@ (x-2)(x+3) @ (x-2)(x-1)
@ -2(x-3) O (x+2)(x+1)

‘ x%=5x+6=(x—2)(x-3)
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16. o

® 2x

@ 2x-1

D)2x -2

® 2x+2

@ 2x+1

(x=3)(x+1)o|E=2

x2-2x-3

x—-3+x+1=2x—-2




17. B5 F X%+ 7xy+10y* o A5 25 A=d12(HH 270)

@D x+y @x—i—Zy @x—H’)y

@ x-2y ® x-5y

x2 + Txy + 10y? = (x + 5y)(x + 2y)
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19.

@® -3 ® -9 ® 3 @)5 ® 9
T 49] Fo] —100] HE BSE
-1x10, 1x(-10), 2x (=5), —2x 50| E&Z

A=4+9,+3




20.

8x? —10x+3 = F AR Qe
Tofolet

> E:

> =He D 6x-4

(FA) = (4x-3)(2x-1)°o|B=
4x-3+2x—-1=6x—-4
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21. (3v+2)(2¢-5) S AA@ Aoz

@ 6x2-11x+10 @ 6x2—11x-7

® 6x2+11x—-10 @ 6x2-16x-10

@6x2 —11x-10

(F2) =6x2-11x-10




22, (a+3b) (20— 1) AN W, ab o] AGE Fofolat,

> E.

> He: 6

(_(?,_i/i]) =2a° —a+ 6ab - 3b
et A ab O] Al 6 0]t




23. 3x%+7x—6=(x+3)(3x +]

) oA |

3x24+7x-6=(x+3)(3x-2)




24. T8 F Q4R Ao] &4

59

o)
% r2 227

@ 25x2 - 20xy + 4y2 = (5x — 2y)2

@ax2 +2ax+a = (ax+1)?

1 1 3 2
@ga—i- a—|—16 §a+4b
4 4 < 2)
2_ = - = — —
@ x 3x—|—9 x- 3

® (xy)? +22xy + 112 = (xy + 11)2

@ ax®> + 2ax+a = a(x+1)?




. oa= , b= 5 l%“lﬂ,aQ—b294%l:%

afolat,

1 1
“:@T:@‘“’:@_l
=(a+b)(a-D)
=(V2-1+V2+1)(V2-1-V2-1)

=2V2(-2) =-4V2

=V2+1




26.

x2 + 36x+ = (2)C—|-)2
67 + 1 +[@] = Bx+5)2x+[@)

® 6.6 @ 6,0,0 © 9.6
® ©,@ ®e.e

B

@:22 =14
©:4x®=36 .©®=9
©:9%2=281

®:10+3x@=1, .@=-3
®: (-8)x5 =15




